Determine the values of a and k so that both
points are on the graph of the quadratic function:

Use each point to create an equation with a and k

given y=a(x-6)*+k Lee

and the points (3,33) & (1, 65)
%{@s = q(1—0> K
(S = 2Ba +K Q™

system of eq's
using Elim.

Write the equation of this quarc{iratic in Standard Form.
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Write the equation of this quardratic in Standard Form.
Start with Vertex Form & change into ax = +bx 4_¢_

Standard Form
Y= q4 (x> ¥ = 3Y
(-1,30) 4 (V= +1) —3Y
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You can now finish Hwk # 17

Use the sheet I've printed.



Factoring Quadratic Expressions

Factoring should always start with G ‘ F

You need 2 numbers that
multiply to 198

Factor. ~ _ 6x2 +31x + 33 and add to 31
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Factor the following: 12x%2 - 18x
= (px CZA =25 )

Always look for GCF because sometimes
that is all you can do when factoring!

After removing a GCF, if there is one, .....

If you still have a trinomial quadratic you should do the following.....

then, if needed,




Factor the following: 453 + [2h2 —216b

Yo b +3b—57)

N2 @ = C*’)




